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QUESTION 1

Which kubernetes object do deployments use behind the scenes when they need to scale pods? 

A. POD 

B. Deployment 

C. Horizontal pod autoscaler 

D. Api Scheduler 

E. Replicasets 

Correct Answer: E 

Explanation: https://kubernetes.io/docs/concepts/workloads/controllers/replicaset/ 

 

QUESTION 2

\\'kubectl delete -n my-ns po,svc --all\\' will delete pods and services including uninitialized ones in the namespace \\'my-
ns\\' 

A. FALSE 

B. TRUE 

Correct Answer: B 

Explanation: https://kubernetes.io/docs/reference/generated/kubectl/kubectl- commands#delete 
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QUESTION 3

Which of the following is not a stop on the cloud native trailmap? 

A. Microservices 

B. CI/CD 

C. Containerization 

D. Software distribution 

Correct Answer: A 

Explanation: https://github.com/cncf/landscape#trail-map 

 

QUESTION 4

You might need to run a stateless application in kubernetes, and you want to be able to scale easily and perform rolling
updates. What kubernetes resource type can you use to do this 

A. Dameon set 

B. Replica set 

C. Deployment 

D. pod 
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E. service 

F. Stateful set 

Correct Answer: C 

Explanation: https://kubernetes.io/docs/concepts/workloads/controllers/deployment/ 

 

QUESTION 5

What is the main difference between Argo vs. Flux CD? 

A. Argo is pull-based, and Flux is push-based 

B. No difference; both are pull-based 

C. Argo is push-based, and Flux is pull-based 

D. No difference; both are push-based 

Correct Answer: C 

 

Explanation: AgroCD: https://argo-cd.readthedocs.io/en/stable/developer-guide/ci/#can-i- retrigger-thechecks-without-
pushing-a-new-commit FluxCD: https://fluxcd.io/ 
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